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À compléter des deux côtés. À retourner avec l’examen quand vous aurez 
terminé. 
 
1 cal = 4.184 J, 1 Cal = 4184 J, 1 btu = 1055 J, 1 eV =1.6 ×10−19  J , 1 hp = 746 W 
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Q∞ = 2πσNM TK = TC + 273.15 NA = 6.02214 ×1023  mole−1   
 
dQ
dt

= rQ 1− Q
Q∞

⎛
⎝⎜

⎞
⎠⎟

Q t( ) = Q∞Q0e
rt

Q∞ +Q0 e
rt −1( ) =

Q∞Q0

Q0 + Q∞ −Q0( )e−rt =
Q∞

1+ e−r t−t*( )  

 
dQ
dt t=0

= R0Q0 = rQ0 1−
Q0

Q∞

⎛
⎝⎜

⎞
⎠⎟
⇒ R0 = r 1−

Q0

Q∞

⎛
⎝⎜

⎞
⎠⎟

ηmax =1−
Qc

Qh

=1− Tc
Th

 

C = Q
ΔT

c = Q
mΔT

Q = mL W =Qh −Qc η = travail de sortie
chaleur fournie

= W
Qh

=1− Qc

Qh

 

COP = Qc

W
COP = Qh

W
 1 m3 = 1000 L 

ρeau = eau[ ] =1 kg/L =1000 kg/m3 =106  g/m3 1 g/m3 =10−6  ρeau  
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  entrée = sortie + conversion + accumulation  
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